I'f you have old BASIC key in :INPUT then GO start recorder. New BASIC
key in :INPUT;RUN then GO and start recorder, when the entire program has

been entgred the game will start. Your are the small box in the center of the maze.
The cat is the moving box in the center top position.

INSTRUCTIONS: This tape has been recorded in both new and old BASIC. at

1 .MIKE PEACE PRESENTS
2 .WAVEMAKERS TAPE # 9 23p BOX A,B,C,D,1;B0X -A,B,C,D,1;NEXT G
3 .(PACK-RAT) 24p F=2;GOSUB 8p;CY=-39;CX=-25;PRINT
5 BC=175;FC=8 "(PACK-RAT )" ;F=3;G0SUB 8p
10 L=p;H=P;1=p 250 A=p;B=-7;T=J;U=K;BOX A,B,3,3,3;C=A;
15 v=p;J=P;K=23;0=RND (3)-2;P=RND (3) D=B;BOX J,K,5,5,3;FOR Z=IT0 2; BOX
-2;1F 0=pGOTO 15 : -50+2x6,-39,3,3,3;NEXT 2
2P S=p;GOSUB 6P;CLEAR ;NT=p;GOSUB 7P, 260 &(22)=255;4(17)=99;4&(18)=49
GOTO 209 3PP FOR G=pTO 6;0(G)=J;IF G=5G=p
3p BOX £,-7,3,5,3;RETURN 31p IF @(1)=@(5)0=-0;@(1)=1
6@ FOR Z=1TO 7PP;NEXT Z;RETURN 32p IF @(3-Q)=@(4)P=-P;@(3-Q)=1
79 FOR Z=17T0 23;&(Z)=P;NEXT Z;RETURN 339 7=S+5p;IF RM<BIF VGOSUB 9p
89 BOX £,-39,12p,9,F;RETURN 349 IF RM=9v=1
90 8(16)=3P;G0SUB 3P;&(2p)=78 350 IF PX(J+0x3,K)=pJ=J+(0x5)
92 IF A=pIF B=-7L=L+1PP;H=H+L;V=P;8&(20) 355 IF PX(J,K+Px3)=pK=K+(Px5);G0TO 358
=15;CY=-39;CX=-30;F=2;GOSUB 8P;PRINT 356 0=1;IF A¢J+50=-0
"(BONUS ",#@,L,")";F=3;G0OSUB 8P 357 P=1;IF BCK+5p=-p
95 GOSUB 3P ,RETURN 358 &(2p)=21p;4(16)=176;1F ABS(J)5d=-
199 8(20)=72;4(16)=7P;FOR A=5T0 8PSTEP J;P=p
2;B0X C,D,A+5,A+5,3;&(17)=A;8(18) 361 BOX T,U,5,5,3;B0X J,K,5,5,3;T=J;
=A+15;NEXT A;I=1+1;G0SUB 12p U=K;IF J=AIF K=BGOTQ 1pp
192 IF 13>2CX=-32;CY=P;PRINT "(GAME OVER)"; 365 IF &(16)R=JX(1);W=gy(1)
GOTO 104 378 IF PX(A+Rx3,B)=pA=A+Rx5
193 GOTO 15 375 IF ABS(A)>55W=p;A=-A;IF ABS(A)>
14 IF TR(1)RUN 6PA=5p
195 GOTO 1p4 389 IF PX(A,B+Wx3)=PB=B+Wx5
129 H=H+S;IF HXE E=H 385 80X C,D,3,3,3;B0X A,B,3,3,3;C=A;D=B
123 BOX P,25,118,22,2;G=Q+1;1F Q»3Q=1 399 IF PX(A,B)=pS=S+1;B0X A,B,1,1,3;
125 GOSUB 7p;CY=29;CX=-35;PRINT "(SCORE)", &(2p)=G+48;4(16)=55;1F S=1696=7
#2 ,H 395 NEXT G
126 CX=-48;PRINT "(HIGH SCORE) *,#p,E; 4pP GOSUB 12P;X=16;8&(21)=15;4&(22)=254;
BOX £,25,115,22,3;RETURN &(X)=24
2pp FOR A=-55T0 S5STEP 5;BOX A,p,1,8p,1; 4p1 FOR A=6T0 8;X=X+1;&(X)=@(A);GOSUB
NEXT A Z° 60 ;NEXT A
219 FOR A=41T0 -42STEP -5;BOX 9,A,14p,4,2; 4p2 &(17)=129;FOR B=1T0 15@;NEXT B;&(17)=136
NEXT A 4p5 GOSUB 6@;FOR A=1024TQ 255STEP -4
22p FOR G=12T0 61STEP 2; A=@(G)s1pp;B=RM; 407 &(23)=A;&(21)=A;4(17)=129;NEXT A

C=0(G+1)+1pp;D=RM 419 &(16)=19;G0T0 15



